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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH", 'RHopt'], [ ETcl’, ’'optETcl’], ’'LAI’,

" optEtRate’ ]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Trend plot forP3-7 0
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P3-7

Bjie) | EBEETIC (7)) | EBHE (BAH/#K) | XK ERE
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P3-7

BFE) | GEBRTIK () | ElE (EF/F) | XS R

01:15 60 9.0 (&= RRi%@01:15 (KRAERES)
02:15 60 90.0 (&= BRi%e02:15 (RFFERER)
03:15 60 90.0 | =& B3%@03: 15 (KRFERSE)
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12:00 60 90.0 | =& Bi%@12:00 (KREERSE)
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P3-7

BfiE) | BRI (D) | EE (EH/AR) | XK R

01:00 60 90.0 5 B3%@01:00 (KRFERSE)
02:00 60 90.0 5 B1%@02:00 (KRFERSE)
03:00 60 90.0 & 1B31£@03:00 (K F{ERLEE)
04:00 60 90.0 5 Bi%@04:00 (KFERKSE)
08:00 60 90.0 5 B1%£@08:00 (KRFERSE)
09:00 60 90.0 | =& 131%@09:00 (FKF{ERLEE)
09:55 60 9.0 (&= 1318009 :55 (KR F{ERLEE)
10:50 60 90.0 5 B1%010:50 (REERSE)
11:35 60 90.0 | =& Bi%e11:35 (REERSE)
12:25 60 9.0 (&= Ri%e12:25 (KRAERKE)
13:05 60 90.0 (&= BRi%e13:05 (RF1EREE)
13:40 60 90.0 (&= BRi%e13:40 (RFFERER)
14:30 60 9.0 (&= Bi&@14:30 (KRFEREE)
15:35 60 90.0 (&= BRi%e15:35 (RE1ERER)
=3[ 840.0 (14)%) 1260. 0 32UHKEC: 1900.0, PH: 6.5

EREBRTK (60. 0) 5THA (150. 0) N FF, FIRERR T % MEEZ S E XER

ZRIAKPRIEBRL36. 0 ml.
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P3-7

BfiE) | GEBIETK (D) | EHE (EH/HR) | XK R

08:05 60 130.0 5 R1%@08:05 (K FHfERLES)
08:50 60 130.0 5 1B31&@08:50 (K FH{EREE)
09:35 60 130.0 5 B1%@09:35 (KRFERSE)
10:20 60 130.0 5 Bi%@10:20 (KREERZE)
11:05 60 130.0 5 BR1&@11:05 (RFEREE)
12:15 60 130.0 5 Bige12:15 (REERSE)
13:15 60 130.0 | = B1&@13:15 (KRBERZE)
14:10 60 130.0 | = Big014:10 CGREERSE)
15:15 60 130.0 e Bi&@15:15 (RFEAERKEE)
21+ 540.0 (90%) 1170.0 3203 KEC: 1300.0, PH: 6.5

EREER IR LR K (0.65 vs 0.55)), AJEER S IAEESREERK
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